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QUESTION 1

(Judgment) The Gaussian model is to accurately quantify things with a Gaussian density function, and decompose a
thing into several models based on Bernoulli distribution. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 2

The histogram operation of the image is to count the distribution frequency of the gray value of the whole image. When
the illumination of the image is uneven, the operation effect of the histogram will be affected, and it is necessary to use
an improved algorithm for image processing. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 3

The lower the value on the diagonal of the confusion matrix, the better the classification effect of the classifier. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 4

Through the image algorithm, the foreground and background of a person who takes a picture taken by an ordinary
mobile phone are segmented, and then the () operation is performed on the () part, which can achieve the same effect
as a SLR camera. 

A. Background, median filtering 

B. Foreground, mean filtering 

C. Background, mean filtering 

D. Foreground, median filter value 

Correct Answer: C 
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QUESTION 5

What is incorrect about the following analysis? 

A. Rule-based word segmentation is simple and efficient, but dictionary maintenance is difficult 

B. In practical engineering applications, word segmentation generally uses only one word segmentation method 

C. Chinese is different from English natural word segmentation. Chinese word segmentation is a 

D. The purpose of statistical word segmentation is to calculate the probability of the word segmentation result and obtain
the word segmentation method with the highest probability 

Correct Answer: B 
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